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UPANTEIL

LZZ = 1

LZZ = 3

ENDE

LZZ = 2

ANTEIL1 = JW
ANTEIL1 =

JW / 12
ANTEIL1 =

JW * 7 / 360
ANTEIL1 =
JW / 360

Anteil von Jahresbeträgen für einen
LZZ (§ 39b Absatz 2 Satz 9 EStG)

CentCentCent

Ja

Ja

Ja

Nein

Nein

Nein

 
 
 

UPANTEIL2

LZZ = 1

LZZ = 3

ENDE

LZZ = 2

LZALUG =
LZALUG / 12

LZALUG =
LZALUG * 7 / 

360

LZALUG =
LZALUG / 360

Berechnung der 
Untergrenze und Ober-
grenze der Tabellenstufe

LZALOG = 
LZALUG + 3599

LZALOG =
LZALUG + 299

LZALOG =
LZALUG + 69

LZALOG =
LZALUG + 9

CentCentCent

Ja

Ja

Ja

Nein

Nein

Nein

 
  


